T35 K2 100 L5 FHRATREEANRR A HAA

Bl AR AR LR 80 44%
# B &k £ —RAR¥% "R

D> g HABAEELHAEE PARBRIEEE—FRTFHo
FTEm 27 st F ey AR T3 B

1. fRfRsaE 40% (F9/NE 5 5T)

1.1 rule of equal marginal utility per dollar spent

1.2 the tragedy of the commons
1.3 prisoners’ dilemma

1.4 Tobin’s q

1.5 crowding-out effect

1.6 reservation wage

1.7 misery index

1.8 ECFA

2. Draw a supply-and-demand diagram with a tax on the sale of good. Show the
deadweight loss and the tax revenue. And show how the elasticities of supply and
demand affect the deadweight loss of a tax.2096
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